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7 100kN/mM%Z#BZ25| 100|000 ~ 064| 109.56 |3mEBZZ| — ~ — — — | 100kN/mMi%#Z25 | 1.00 | 11.07 ~ 1324| 109.56 |3mEEZS -~ — — —
Zzh st 100064 ~ 843 100.00 | =nLs | 000 ~ 843|204 10.92 Zzh st 1.00 | 5.00 ~ 1107 100.00 | EnS | 5.00 ~ 1324|204 10.92
2 100kN/ % B2 5| 1.00 | 000 ~ 041 106.05 |3mEEZSH| — ~ — — — | 100kN/mi%EBZ 5 | 1.00 | 1264 ~ 1448 | 106.05 |3mEREZD -~ — — —
Zzh st 1.00 | 041 ~ 819 100.00 | #ns | 000 ~ 819| 1.93 10.34 Zzh st 1.00 | 5.00 ~ 1264 100.00 | =N | 5.00 ~ 1448 1.93 10.34
3 100kN/mM%Z#BZ25| 1.00| 000 ~ 056 10835 |3mEBZE| — ~ — — — | 100kN/m%E#BZB | 1.00 | 1089 ~ 1268 108.35 |3mZEBZ3 -~ — — —
Zzh st 1.00 | 056 ~ 835 100.00 | =nst | 000 ~ 835)| 2.06 11.056 Zzh st 1.00 | 5.00 ~ 1089 100.00 | #ns | 5.00 ~ 1268 2.06 11.056
4 100kN/MZ#B % % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3m%&#EZD -~ — — —
Zzh st 1001000 ~ 477 59.40 | =nst | 000 ~ 000 1.69 9.07 zhnLst 1.00 | 5.00 ~ 5.00 59.40 | =nLs | 500 ~ 5.00)| 1.69 9.07
5 100kN/MZ#B% % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 3 — - ~ — —|3m%&#EZD -~ — — —
Zzh st 1.00 | 0.00 ~ 499 62.16 | =S 000 ~ 499| 1.83 9.78 Zzh st 1.00 | 5.00 ~ 540 6216 | TnLS | 500 ~ 540 1.83 9.78
6 100kN/MZ#B% % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3m%&#EZD -~ — — —
Zzh st 1.00 1000 ~ 488 60.84 | =S | 000 ~ 4858| 1.80 9.62 Zzh st 1.00 | 5.00 ~ 520 60.84 | TnLS | 5.00 ~ 520 1.80 9.62
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8% % ~ 3mExEZD ~ 100kN/MZ#B % % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh s ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/mMZ#8% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/mM%Z#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8 % % ~ 3mExEZD ~ 100kN/mMZ#8 % % ~ 3mExEZD ~
Zh s ~ ZhLst ~ Zh s ~ ZhLst ~
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